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Another Example!

x?-3 ifx<O
g(x) = %x—3 if0=x<4
(x-4)’-1 ifx=4

x w ~5| Yay-> (Y“(\‘:(

-2 -l

-\ - T | <

A
~2.5]

9 | S| -a

H | > [ Mr I

S >0 S0 O

Ianll FUNNEE MR P AU . "N SR A R N N |




Section 6.3 w notes 2.notebook

March 13, 2017

Try These!
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Just What You've Ordered...

Transformations!
Transformations of f(x)
Horizontal Translation Vertical Translation
f(x) = f(x — h) f(x) — f(x) + k
left for h < 0 right for h > 0 down for k < 0 up for k >0
Reflection Across y-axis Reflection Across x-axis
f(x) — f(—x) f(x) — —f(x)
The graph is reflected across the y-axis. | The graph is reflected across the x-axis.
Horizontal Stretch/Compression Vertical Stretch/Compression
fix) — f(%"‘) f(x) — af(x)
stretch for b > 1 stretch fora > 1
compression for 0 < b < 1 compression for 0 < a < 1

% Horizontal translations change both the rules and
the intervals of piecewise functions. Vertical
translations change only the rules.
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1 5 write the

Example 1) 1l s <o
Given f(x) = {

rule g(x), a vertical translation up 3.
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12  write the
x2  ifx=2
42~4g

rule g(x), a‘mrizontal translation left 2.
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Example 2) 2x -4 if x < 2
Given f(x) =

9 (x)=
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Intercepts

When functions are transformed,the x and y
intercepts may or may not change.

Effects of Transformations on Intercepts of f(x)

Vertical Stretch or
Compression
by a Factor of a

Horizontal Stretch or
Compression
by a Factor of b
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Mintercepts are multiplied by b.
y-intercept is multiplied by a. .3 hm‘

Reflection Across x-axis

y-intercept stays the same.
-Reflection Across y-axis
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x-intercepts stay the same.
y-intercept is negated.

x-intercepts are negated.
y-intercept stays the same.

Example:

Identify the x- and y-intercepts of f(x). Without graphing
g(x), identify its x- and y- intercepts.

a) f(x)=%x—3 and g(x)=3f(x)
'c(\b-cyn{‘ bYf(x)=x>—4
= 72 (0)-3 i} et
iy 3(_"4

0~"%x-3
13 3

Cha= g (3)

g6x¥) = 3 £x) @
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X~k 6

Y-ath=-3)(3)=-9

“g(x) = f(2x)
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